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General Instructions :

(i)

(ii)

(iii)

(iv)

v)

(Vi)

(vii)

(viii)

(ix)

31/1/2

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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H-HA

Section-A

1. = fou e Aifen o 99 faRaw - H 1
|
(a) CH,-CH,-OH; (b) CH,-C=0
Name the following compounds :
H
|
(a) CH,-CH,-OH; (b) CH,-C=0
2. DNA®R? 1

fortor T AT quIfEU | STRE § 379G 10 91 Ydad hior off 3fferd
it | 2

i
PgFC
\
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A ray of light is incident on a convex mirror as shown. Redraw the
diagram and complete the path of this ray after reflection from the

mirror. Mark angle of incidence and angle of reflection on it.

(

£

PE« F C
5. Tordlt v8 yemwr Y Ieew Gfed =men Hifse e o |+

Gfsha T 8 99 1 Y94 Bailcdash o] | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

6. Torelt 3fo@ YR @ HAfeld SIA-9WR TE & IR Akl Rl

1Y | o

List four advantages of properly managed watershed management.

7. UGS (ATaHIehTeh) T BIAT © ¢ 91 TIAT & el [ohell 3= ol

T | e s 2 7 gEEfaes gHienr ) 9gdar 9 SIel

FhifsT | 3

What i1s an oxidising agent? What happens when an oxidising
agent is added to propanol? Explain with the help of a chemical

equation.

31/1/2 5 [P.T.O.



8. UTHANH ANk w1 § 7 A AR AR § 9=+ Bd € 7 ok A
forry T[oTt <t Y ST |

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

9. &I dd ‘M’ o soae fo=ma (2, 8, 2) ®, YU &9 U qrhi
(NO,)",(SO,)*” @ (PO,)*” & @1 HANT AT & | 38 THR o T
iRt o g fafaw | 9@ ‘M’ sTgfaer Ted areft o forg ag 3R
AqEd W A 27 M HEEAST N SHIET reEn AR i
ST ? @70 3T S T Efed gfd s |

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the

formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’
belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

10. Ug T & foReel a1 acdl & T o 3k Solag-fomm fafaw | &7
SIS - T=Imal T 3TTUehl R GHHT fo@Ts <t & 7 39 dcal o O foet
T Tcd oh SATFETES 1 3 faaRan |
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Name any two elements of group one and write their electronic
configurations. What similarity do you observe in their electronic
configurations? Write the formula of oxide of any of the aforesaid

element.

11. AHE T - | N7 o 991 1 © ¢ JI9T 3G T[RT o STeL Il el §
F1 g Bid 87 Ao & 99T Sl i feEmee ° iEdT dF &

foTu h STER 2 7 3

What are the functions of testis in the human male reproductive
system? Why are these located outside the abdominal cavity? Who
is responsible for bringing about changes in appearance seen in

boys at the time of puberty?

12. HHd SHEEAT Sl FI6A &, SR 99 & w@red 3 ggfe & fou
AETIF 7, hi Hiz dF T4 {9 i game | g=@w G & qa

fergr=d &1 Iocci@ e | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/2 7 [P.T.O.



13. wg-Tomued 7 2 7 Sfiai # a7 fore Yohr gian & ¢ Har | e i |
fordt wen Sftar =1 9 foTRay St 39 TohR o SF9 =l SeiaT © |

What is multiple fission? How does it occur in an organism?
Explain briefly. Name one organism which exhibits this type of

reproduction.

14. ““@eqor qeqrelt 3teren ATUTE Bd 8 1) Hed 3 39 deF 1 &9 o folu
379 ufrorT o1 gfdared fore TR foram ? He | S i |

How did Mendel interpret his result to show that traits may be

dominant or recessive? Describe briefly.

15. JuTfid ALOT TR STIARTR A&V o s i fawaTehrt Seqon st g=ht
TfCIhT o €9 H SATET |

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. TERTST o WehiU § oRIT ATcqd © ¢ AR qT AT o THT SAThRTT Tl
TR T T TTd =T © | $9 ITEeTel shi ShR0T |fed ST i |

What is meant by scattering of light? The sky appears blue and the
sun appears reddish at sunrise and sunset. Explain these

phenomena with reason.

31/1/2 8



17. = fou o 3@ =i, oo a1ader /39 Ul W ahig TRt fohtor 31mdes
LA SMRA TR 7, AT I et W T | Tish ToRtor | 59 fo
T U0 ¥ YA oh I9=ITd oh1 99f ST18U | 3

S S N
Fﬁf ‘%&F

EQ%'F

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

18. Trefefaa it gfs o o sror i -

(a) Torelt oft Sa-mvee # STuseehi / STUHTSIenT shi IJUTEATd TR © |

[aN aN

(b) TR TR T@T § Srsli-TaTE TSI BT © | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

31/1/2 9 [P.T.O.



19. (a) TME HIGT SHA 03 o 1= U T yedeh sym7 =t o6 feafa -

(1) SR

(i) HAIwRE I

(i) ToiE™

(b) =T Sl TLEAT 3 FE 1 JUIH hHIfST |

(a) Write the functions of the following parts in human female

reproductive system :
(1) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

20. ST 3gWeH 8 F1 dicdd ® ¢ SIfd 3g9a o fo70 STHETE =T shiGehi shi
A ST | T W i NG SRS o 9TEdi o SIid 3gWeH S
T I el &l Aehdl ¢ 379 3L <l ShR0T Afed g i |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/2 10



21. (a) U BTESIERIEHAT SR AT STZGIhTeI o sl fauET T o folg
g TR TRIegor T |
(b) T % a1 H T84 B W §4 aTel 3cdTat o 19 forfae | 2 At
srfufsran 1 gamfes et foftau i famfea 2R are fafas
YehTL hl FHeliatl ohl S911SU |

(c) T & vy I Sufeafa § A9 i FAS o Wiy Afafmn #
yfceemae srfyfsran ol g ST 2 ? 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

22. (a) Tl STader <9 S0 3T A @ foRE! foeet o1 Sidferest s=mT
T91i o foru ferror e difam |

(b) IWIH @ H forar-g, wlafena g ol 3ok 3fua 7 (75 e
g dftardl & TgUR eMTeHeh (+) 12T SO (—) ) |fed quMsy
3R Ieei@ AISTT for 39 wohtor ® 3 gt s1aae ol ohl iR gl
() & Tore wohR Taifera €
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(c)

(a)

(b)

(c)

23. (a)

(b)

31/1/2

U i 1 Tehid AR &HdT J1d hITSIT, ST A4 THIRTh heg &
40 cm g R fera foreht ot =1 —1 e1madq o1 wfcifors saman 2 |

Draw a ray diagram to show the formation of image by a

concave lens when an object is placed in front of it.

In the above diagram mark the object-distance (#) and the
image-distance (v) with their proper signs (+ve or —ve as per the
new Cartesian sign convention) and state how these distances

are related to the focal length (f) of the concave lens in this case.

Find the nature and power of a lens which forms a real and
inverted image of magnification —1 at a distance of 40 cm from

its optical centre.

it guvT o Hew =i feu 7 gei =i afemn fafeu :

(i) 4

(ii) Thdl Fx

(i) T 3

(iv) &I ®ihd

e fow T gdvT % g B e o fore oo s it
(i) FId gUur

(i) 3T U

12

5



(¢) T feu v amm W fomm e | g0 M g gUur & a1 P g
foreer 2, TotereRt gdor g =1 STafefa widfersr Q ® |

Q
P M
4N
C F
\

U M & TR 1 It shifsTe 7R fdafers Q =1 oh1s U fafyre
o7 feafa | 5

o\
Vizya Champ

(b) Draw ray diagrams to show the principal focus of a

(i) Concave mirror

(i1)) Convex mirror

31/12 13 [P.T.O.



(c)

24. (a)

(b)

31/1/2

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

IECE R SR R A S E R R R DR TIC
qacit, aiaTien, fheeeta od, qemmsft ufemen

TR o foerrasiict 230 o Al Suih siHaT-37edr § difed 8 1 59
SRl bl AFEH RT YT Shi4aT o JIRIY9T /JfereemaT gy 3k
ToRar T wehaT © | 31Uk ITeX o TRt TiaeR THS | 31Tk US|
T 3H] 929 o IR H SITechdl 3T hid o 3e9d U Teh AMIM hl
RS TRt ® | 9fe oad 3w Sfed-agg ° 9 9 % fofe ke
ST, 1 3719 39 U i § fohd Jehm T ot ?

() 39 YR o AN hl ST hA 1 3233 faAfau |

(i) T o ITATT A9 A1 ol T A o fI¢ IRG L THT 119
TN hT ST Tqeh ol ¢ UH QT IRl ahl gt SMTST |

(iii) 37 &1 Yool st gt sA1EY, S 3 kel 7 foskiad & 9 E,
ST 39 YR o AT H qHT Aok Gfshd ANEH <d 2 |
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(a) Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

(b) Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(1)  State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programme.

HT-d
Section-B
25. TAfafad 4 & &9 gusa 7 1 9= 7 7 1

(a) Tgeh, Ueft 3R feuenedl & ouTe

(b) FFeT o Tk R TTHAATAIT o Feeh
(c) =EE o U@ R fadeft o va

(d) ueft % T TR THIEE & UG

31/1/2 15 [P.T.O.



Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

26. foreht B a1 forelt fsheratt <t o g1 ok fafsr ol <t weem s’
SR o AT @ | SiiSil oh ==l U 710 |l | § IwYh 9g - :

(a) W, =T, T

(b) TSMI, Haehl, =1

(c) WeRHT, g, TSTHI

(d) USHI, "X, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

31/1/2 16



27. = fou U e w1 remeE HifGe faw foredt s 3 Staas i (L)),
YA I (Lr), TG 0T (Le), =0 @101 (LA) a2 fomem s
(£D) Afeha foru 2 | 3o Tt Sifeha T = : 1

(a) LA L

(b) LA, Zi 3 Zr

(c) LA, Li, Le 9 £ZD

(d) ZA, Zi, Zr 9 £ZD

Study the following figure in which a student has marked the angle

of incidence (Zi), angle of refraction (£r), angle of emergence

(ZLe), angle of prism (£LA) and the angle of deviation (£D). The
correctly marked angles are :

(a) ZAand Zi
(b) ZA, Ziand Zr
(c) ZLA, Zi, Ze and £D

(d) LA, Zi, Zr and £D

31/1/2 17 [P.T.O.



28. TRl AIATRR &A% &id § TSRA aTell JehmeT fohor 1 99 STRREq

F & fore, = < weft o = arnfires syaEen gaH R 7 1
P Q R S

(a) P

(b) Q

(c) R

31/1/2 18



29. Torelt B 9 JARTIET B % g AR W @ Wi il Sare
T Addd U AT ST o1& Yidafers foret o8 W, 3Et S99 o
H BIRd T TG wH * forw, g fomn | e wEew 9 39 B
Y HIohd g 1 IR M TEl 7H I i o TIQ SRRt & T
1 km @ o fret waa 1 ®hid & o1 gema foam | 3 a8
T 3 TEY YA Dl BIRGA B b [T W AT AT TAFTANRG
ESCIRIE 1
(a) TR TG Y
(b) TG I YT H K
(c) U< ol gUYT sl AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the
distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/2 19 [P.T.O.



30. f3U U 3T <i¥ A Alerehe Biohd g, Tl T fod (S, is 9T

31.

TE) I BIhHd Fleh, FTd F o foTu 319 30 foar o1 Ufeafensr ud w
T i o1 JTE L & | 98 TX ST ffersl 9ed & gt g -

(a) ®enm R urvd witafda

(b) e IR BT

(c) 32 IR BIT

(d) TTEY, 3T R BT

To determine the approximate focal length of the given convex lens
by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the
screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) wvirtual, inverted and diminished

s B 25 mL YTiAT it IR WEA=AT P, Q, R 3 S o IAsh
TEAS H 10 mL YA ST A1 © | 98 3 W@ # =R e Faon
%1 Ueh-Teh oW 39 JehR Hardl & — P # KCI; Q # NaCl; R d CaCl,

AT S H MgCl, | TeavaTd, a8 Yedeh TEHe H A o Toera o T
T 2 mL ST © | TS W@l o qaTei i Well-wiid fed W

34 51 TEAfcrdl § T 311 e ot SF9medT 7, 3 Tl & -

(a) P3RQ (b) R3S
(c) P,Q3W R (d) P,Q3W S

31/1/2 20



A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(¢c) P,QandR (d) P,QandS
32. = fau MU wqref o foRE @M= ®1 I AEHA oMW o U
T TeRuT— SATHISRAT ol e ok foTq feohanm <11 wekal & 7
(a) Ca(OH), 3R =1 dd
(b) NaOH 3R fim &1 a1
(c) NaOH 3R @f+< da
(d) Ca(OH), 3R @Sl at
Which of the following sets of materials can be used for conducting
a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil
(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil
31/1/2 21

[P.T.O.



33. wreHATRT iR o fow ® i €t 18 fewaforn W fomm ifste -

[ 39 SAfisRaneti § o1 3cae Bidl @

I 9 o g s@emu & fofe Afafsean fismr & wifeam aeimase
[ERIRISIGI

I refftertor STferfsran weh forey yerm ot Sarefiientor stfifsran 2

IV ST Tl T@e o SE TRl oh1 &R Tav §

T Tt fewfrt & -

() LTI

(b) ILIIFIV
(c) LUIIV
(d) Faet [TV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I For quick precipitation of soap sodium chloride 1s added to the

reaction mixture

III Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/2 22



34, =iz B TRt el sEicd g T o dfdfera &1 39a ©d W
foret US WX Bk s 2 | deavend a8 fiR-ofR forer st o it TR
ST 8, 3R B SR 98 d ol THEIS ik fol o Yfdfens sl 9e W

I LT ¢ | 2
(i) o8 o = form fosm o Teafta st 8- Ue sl I F¥ar o 4
=L
(ii) Sffors o WSSt 1 AT TAT & - I T2l & AT F&dl ¢ ¢
(iii) ST o8 forray o1 <@ o ITcAferes fepe o SITAT 8, e U W Widferat o
FTEIAIR ?

A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the
screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,
does he move the lens?

(1) What happens to the size of the image-does it decrease or

increase?

(i11)) What happens to the image on the screen when he moves the

object very close to the lens?

35. 39 GHI 3T FA1 Y& Fd § S A THIRF A H F© I8 3™
e § e & foad s R 2
() TraTerafem
(ii) AT SiA
(iii) HEE o
(iv) HifeTy TESISH e ol
31/1/2 23 [P.T.O.




What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(i1) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

36. 37T o fg@ved & 39 fomiy =wor o1 aMiferd 3@ difwre fSaw 3geht
ek dlEfiehd &1 ST ® TR 3Teh! hifyreht fareett # Tehivla gfemmer
BT g | 2

Draw a labelled diagram to show that particular stage of bina

o\
Vidya Champ
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Q2.
Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

MARKING SCHEME Code No. 31/1/2

CLASS X — DELHI

Expected Answer/ Value point
SECTION-A

(a) Ethanal (b) Ethanal
It isthe carrier of hereditary information from parents to the next generation.
Producers, consumers, decomposers

OR
Plants, animals, micro-organisms (Any two)

Tracing the reflected ray
Marking £i & £r

o InWest Bengal the Sal forests had been very badly degraded.

o A forest officer involved villagers in protection of Sal forest and gave them
employment in silviculture and harvesting operations.

e Villagers were alowed to collect firewood and fodder on a nomina
payment.

e Within a period of 10 years the previously worthless forests became
valuable.

Advantages of watershed management —

(i)  mitigates drought and floods

(ii) increasethe life of the dams and reservoirs downstream

(iii) increases the biomass production and thereby the income of the
watershed community.

(iv) helpsin maintaining ecological balance by scientific conservation of soil
and water. or any other (Any four)

e It isasubstance which can give oxygen to other substances.

4 _ _ _ AlkalineKMnO 4+Heat _ o~
CH3 CH2 CH2 OH — 4 N CH3 CH2 c—-OH
OR Acidified K .Cr.,O_+Heat Il

27277 O

Propanal Propanoic acid

e Propanoal is oxidised to Propanoic acid.

e Covaent compounds are those compounds which are formed by sharing of
el ectrons between two atoms / which contain covalent bonds.
e Covaent compounds are different from ionic compounds because the ionic

Marks

Yo+ Yo

Yo, Y2

Yo, Y2
Yo
Yo
Yo

e

4xY

Yo

Total

Delhi—31/1/2

Page 2



compounds are formed by the transference of electrons.
e Threecharacteristics of covalent compounds:
(i) Generaly have low melting and boiling points.
(ii) Generaly insoluble or less soluble in water but soluble in organic

solvents.

(iii)Do not conduct eectricity. (Or any other characteristic) (Any three) 3x1 3
Q9. e The electronic configuration (2, 8, 2) of the element ‘M’ suggests that it
belongs to group 2 and period 3 of the Modern Periodic Table and its
valency is 2. Yot
e The chemica formula of the compounds are —
M (NO3), / Mg (NOs)2; MSO, / MgSO4; M3 (PO,), / Mgz (POy).. 3xY%2
e ‘M’ will form ionic compounds by losing two electrons. Yo 3
Q10. e Two elementsof group 1 are Na, K / sodium, potassium 2x Y%
Electronic configurationsNa=2,8,1; K =2,8,8,1 2X Y
o Similarity: Both have one valence electron / One éectron in outermost
shell Ya
e Oxide—-NaO/K-,0O 73 3
Q11. Functions of testis—
(i) Produce sperms 7
(ii) Produces male hormone/ testosterone 7
e These are located outside the human body, as sperms need lower
temperature than the normal body temperature to mature. 1
e Testosterone 1 3
Q12  Three methods of contraception —
() Barrier method or mechanical method/ Condom/ Diaphragm, to prevent
the meeting of sperms and ova.
(i) Chemical method/ Ora pills, Changes the hormonal baance of the
femal e partner so that the eggs are not released.
(i) Surgical method — to block the vasdeferens in males/ vasectomy or the
fallopian tube (oviduct) in females/ tubectomy, to prevent the transfer of
sperms or egg and hence no fertilization takes place.
(iv) 1UCD</ Loop or the copper-T placed in the uterus, to prevent pregnancy — 3x (Yz+
(Any three) ) 3
Q13  Multiple fission:- The process of reproduction in which many individuals are
formed or produced from the parent cell. 1
In this process, the nucleus divides repeatedly to produce large number of
nuclei. Each nucleus gathers a bit of cytoplasm around itself, develops a
membrane around each structure. Many daughter cells develop which on
liberation grow into adult organism. 1%
Plasmodium exhibits this type of fission. Y 3
Q14. Mende conducted breeding experiments on Pea plants.
o Hesealected pure bred tall and dwarf plants. Y
o Hecross-pollinated these plants. Y
¢ IntheF, generation obtained only tall plants. Talnessis the dominant trait. Y
e Then, he produced F, generation by selfing of hybrids/ F; Y
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Q15.

Q16.

Q17.

Q18.

Q19.

a)

b)

b)

He found that 3/4™ of the plants were tall and 1/4™ were dwarf.
The trait which remains hidden in F; generation plants is the recessive
traits.

Acquired traits Inherited traits
Do not bring changesin the DNA of Bring changesin the DNA of
germ cells. germ cells.

Cannot direct evolution Can direct evolution

Cannot be passed on to the progeny Can be passed on to the progeny

Scattering of light — Phenomenon of spreading of light (diffused reflection)
by minute particlesin a medium.

The sky appears blue because the blue colour of sunlight scatters much
more strongly than the red colour by particles in atmosphere/ air due to its
shorter wave length.

At sun-rise and sun-set most of the blue light and shorter wavelengths are
scattered away by the particles in the atmosphere as the light from the sun
near the horizon passes through thick layers of air and larger distance. The
light that reaches us is of longer wavelength (red colour) giving a reddish
appearance.

- e e O
6 S

The existence of decomposers is essential in a biosphere because they
breakdown complex organic substances into simple inorganic substances
that can be absorbed by the plants. Thus, decomposers

e replenish the soil naturally

¢ helpsin removing the biodegradable waste.

In afood chain the energy moves progressively through the various trophic
levels, it is no longer available to the previous level (autotrophs) and the
energy captured by the autotrophs does not go back to the solar input.
Hence, the flow of energy is unidirectional

(i) Ovay - (i) Production of female hormone
(ii) Production of female gamete

(i)  Oviduct- (i) Transfer of female gamete from the ovary
(ii) Site of fertilization

(iii)  Uterus- (i) Implantation of the zygote
(ii) Nourishment of the devel oping embryo/ placenta
formation
Structure of Placenta — it is a disc like structure embedded in the uterine
wall connected to the embryo. It has villi on the embryo’s side of the tissue
and on the mother side, it has blood spaces, which surround the villi.

Yo

Yo

3x1

Yo

Yo
Yo

1%

Yo
Yo
Yo
Yo
Yo

Yo

Yo
Yo

3
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Q20.

Q21.

Q22.

Q23.

Function of Placenta— it provides alarge surface areafor nutrients/ glucose
and oxygen to pass from the mother’s side to the embryo and waste
substances from the embryo’s side to mother’s blood.

e Speciation:- The process of formation of a new species from a pre-existing
one.

e Four factors:
Genetic drift
Mutation / Drastic change in the genes or DNA
Natural selection
Geographical isolation

e Geographical isolation cannot be a major factor in the speciation of a self-
pollinating plant species.

¢ Reason:- Physical barrier cannot be created in self-pollinating plants.

Pass the vapours of the given samples of saturated and unsaturated
hydrocarbons into bromine water taken in two separate test tubes. The one
which discharges the colour of bromine water is that of unsaturated
hydrocarbon and the other represents saturated hydrocarbon. (or any other test)
On burning ethane in air, the products obtained are carbon dioxide and water,
along with heat and light.

2CHg (g) + 70, (g) > 4 CO; (g) + 6 H,O (1) + Heat + Light

It is considered a substitution reaction because the hydrogen atoms of methane
(CHy) are replaced by chlorine atoms one by one.

Diagram
b) Marking —u and —-v

¢c) As, m=-1 hence, the lens is convex.
Y
T m=— SV=-u

Thus, object isat 2F
2f=40cm
S f=20cm=0.2m

le = 1 = +5D (convex lens)

0.2

a) i) Pole- Centreof the reflecting surface of the mirror.
ii)  Centre of curvature — The centre of the hollow sphere of which the
reflecting surface of mirror forms a part.
iii) Principa axis— Straight-line passing through the pole and the centre
of curvature of a spherical mirror.

Yo
Yo

4xYs

(IR

Yo, Y2

Yo

Delhi—31/1/2

Page 5



iv) Principa focus — Incident rays paradlel to principal axis, after
reflection, either converge to or appear to diverge from a fixed point

on the principal axis called principal focus of the spherical mirror. ax Y2
b) i) A m
At ‘
infinity
5 1
i) __
i EJ"
y i .
¢) Concave mirror Y
Image formed is virtual Y 5
Q24. a) e Cornea- Refractstheraysof light falling on the eye Y
e Iris— Controlsthe size of the pupil Y
e Crystalline lens — Focuses the image of the object on the retina Y
e Ciliary muscles— Holds the eye lens and adjustsits focal length Yo
b) i) Objectives — To make people aware and realize their duties towards
society. 1
Ly One person can give sight to two people s
Our eyes can live even after our death s
10 Concern for others/ Responsible behavior/ Group work/ or any other
(Anytwo) 2xY 5
SECTION-B
25 (a) 26 (d) 27 (d)
28 (d) 29 (0) 30(c)
31 (a) 32 (b) 33(c) 9x 1 9
Q34. (i) Lenstowards the screen/ screen away from the lens
(Note: one mark to be awarded for any other answer) il
(@ii)  Increase Y
(iii) No image on the screen Y 2
Q35. (i) Nochange/ or remains colourless
(i) No change
(iii)  Turns pink/orange
(iv) Evolution of acolourless/ odorless gas with brisk effervescence 4XYs 2
Q36. daughter cells
ansh’in
Diagram 1
Labelling %% 2
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